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Note: Attempt all questions,

All questions carry cqual marks.

This paper carrics negative marking. 25% marks will be deducted for cach wrong
answer. .

Choaose the correet answers

l.

Generally the unit ol measurement for
u) Squure
¢) Both of these

In a detailed cstimate. the provision for is usually 9
a) 8% o 10%
c) 3% 10 5% " cofthese <

Asamlcofﬁlumb.mofsmlin-" plumn is taken as
1) 8% o 10% “b) 5% to
c) 3% 10 5%

a) 150000
€) 100000
The uselul part of livable area of a bulldim
a) Carpet arca
c) Roolarca ‘ .Némorlhtsc
Thickness of plastering is usually A
8) I5mm

¢) 20mm./ '
10m" of 1:2:4 concrete contains of sand volsme -
aysn ) 3
£)44m’ d) 10m’
The height of the step is called

a Flight ‘%
¢) Step d) Both (a) & (b)

The Nat surface of the step is called

a) Flight gﬁ‘
2} Step thi(h) & (c)

The slab provided ubove the window to guaed the window Irom rain water & sun heat is
called

4) Sun shade b) Canli-leaver

¢) Both of theme d) None of theme

"The beam provided aboye doors and window 1o distribolc the load above doars window
the side walls is called -

a) Canti-leaver beam b) Simple supported beam
_¢) Linton d) None af these

The distance between two building should be more than

a) 3m * b)4m

¢) Both ol these d) Nonc ol these

Floor index is measunsd 10 check the density of population of

1) Tiles b) Space

) Area d) Nonc ol these

On striking two bricks, metallic sound is produced, Bricks arc

n) I'st class b) Dull

¢)2'd d) None of these
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For one cubic metre of brick masonry, the number of bricks required arc
g) 400 b) 450
£) 500 d) 550
The muin constituent of Portland euumﬁ-
#) Lime “b) Alumina
c) Iron oxide ~d) Alkalis v
When & heavy strueture is 1o be construeted in sundy soil. the foundation used is known
Bs — : i
a) Pierfoundation Rall foundation
¢) Both of these
In case ol a cantilever beam, the tensile2ane is the neutral axis
a) Below | Midc
¢) Side
I ow to hold the hammer handle while driving the
a) Middle of the handle ~ b) Anywhere in length of the handle
c) Near the hemmer head of the handle <) End of the handle
The construction of a femporary struc ure required 1o support an unsafe structure s
called
a) Underpinning
£) Shoring
While grinding the terrazzo Noor, fing ,‘ 1 Is done by the Carboundum coarse of
Ne ’
u) 60
¢) 150 1
The loor, which is best recommended for heavy industries, warchouse ete. fs—
a) Granuletic floor b) Concrete floor
. .€) Brick foor d) Asphalt Moor
Which of the following is & good heat fnsulator brick
a) Hollow brick b) Ileavy duty brick
¢) Jhama brick d) Nonc of these
Sand is a
&) Binding material h) Coursc aggregaic
¢) Fine aggregate d) Nonc ol these
The structure below soil is called -
1) Sub-structure b) Super-struciure
c) Both (a) & (b) d) None of these
"T'he structure above soil is called -
8) Sub-structure -b) Super-structure
) Both () & (b) d) None of these
InRCCslab_____ is used.
A) Steel b) Castiron
c) Stainless stee! ~d) Iron A
o g
“Which is the & proper conereie mix? Yo
8) 1:2:1 112 RE
¢c) 1123 d;
1A
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' 29, The iron used in RCC slab is called - F 3 1
a) Plane iron bars b) TOR J
¢) Both (a) & (b) d) Nonc of these

30.  The exira roof slab expanded from the wall iscalled
#) Comnice Al
c) Sun shade | ne ol these
3. DPC is provided in — I
a) GL level ] - b) PL level
¢) RI. level None of these
32 InRCC structure. every Pier is connected hys
4) Foundation - b) Lintan
) Beam d) None of these
Y 33, I'he lond of structure deliversd to the soil -
a) Horizontally b) Verticalty
c) Angularly d of these
34, A bag of cement contains cement.
a) 50kg }
¢)75kg
35 Lime is obtained from lime stonc by -
a) lleating
¢) Cooling

36.  Which screw driver mostly used by the carpenier for fixing and removing the wood

screws? .
a) ONset serew driver %mm,u head screw driver _
¢) Ratchet screw driver 'd) London paltern or heavy duly screw dyivey
37 Itisathin internal wall which is constructed the inside the closed building to divide the
space in to rooms and aress is
a) Floor 'b) Stair
¢) Partition d) Roof’
38,  Which type of joint used for marking the shelves?
a) Bridle joint b) Mortise and tenon joint
¢) Housing joint d) Bevel scarf joint
39,  The obstacle, which obstructs vision but not chaining, is a
8) River b) Pond
¢) Hill d) None of these
40,  The linc in which planc passing through the given point and the north and south poles
interseet the surface of the carth, is called
2) Arbitrary meridian b) True meridian
¢) Magnetic meridian d) None of these

41.  Inwhole circle system, the bearing of & line is measurcd

8) Always clock wise from the south point of the reference meridian, forwards the fine
right round the circle .

b) Clock wise or anti-clock wisc mix from the east or west whichever is nearer the line
towards north or south.

¢) Clock wise or anti-clock wise mix from the norih or south, whichever is nearer the line

* towards east or west.

- d) None of these 3
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42,  Chain survey is suitablc for hilly arcas
a) ‘I'rue b) Partly truc
¢) Ialse d) None of these
(43, Ashort offset docs not have its length greatcr than
a) 30cm b) 40cm
¢) 45¢cm Y None of these

44.  Inwell-conditioned triangle, lbd@nsarc either less than 30" or more than 120" -

a) True b) Parily truc
¢c) False l ) None ol these
45,  Indirect method of is suitable when the slopes are long, regular and gentle.
a) Plane tabling b) Compass surveying
¢) Chaining d) None of these
46.  Line ranger is used for ranging when each station is not on regular intervals —
a) True b) False
c) Partly true d) None of thesc
47, The of the chain should'betested at frequent intervals.
a) Length b) Weight
c) Both ol these d) Nonc of these
48, line is the most important in a chain survey.
8) Centre .-‘b)&de
.C)Base d) None of these
49. A channel section consist of —
a) Two webs b) Two flanges
c) Both (a) & (b) d) One web and two flanges
. 30.  Side of the beams, walls & columns form work should be removed —
a) After 15 days b) After 4 days
c) After 28 days d) After 10 days
T
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